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: .l.. Answer the fonOWing questions o 1x5=5
(a) A data Warehouse is saxd to contam a “time
- Varying” collecuon of data because -
-(l) IfS Contents very automatlcally~ with ‘
time o
@) Ir's life-spans is very limited .-
(i) It °0ntain$ hist;)rical data
(V) It's content has explicit time-stamp.
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(b) The “Pivot” is an OLAP operatlon Whlch :

(1) Intergrates several dlmenswns

- (i) Is a wsuahzatlon operatlon rotating the

axes for alternative presentation.

(111) Is not VISuahzatlon operation.

(1v) Is not a rotatmg axes for altematlve ,

o presentatlon

(c) Whlch of the following statement is true 7 ?

@) A fact table descnbes the transactlons
) stored in a DWH.

(n) "A fact table descnbes the granulanty of
-data held in a DWH.

. (iiii) The fact table of a data warehouse isthe

‘main  store of descriptions of the
transactlons stored in a DWH.

(iv) The fact table of a data warehouse is the
“main. store of all of the recorded
transactions over time. |
(d) The Apriori. ﬁ;opei'ty means .
(i) If a set cannot pass a test, all of its
supersets Will fail the same test as well

(ii) To improve the efficiency the level-wise
generation of frequent item sets
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(iif) If a set can'pass a test,.all of its supersets
will fail the same test as well-

(iv) To decrease the efficiency the level-wxse
generatlon of frequent item sets

(¢) What is / are the dlfferent types of Metadata ?-
L Admuustratlve ‘
2. Business
3. Operational
0 Only ,(1): abbvé "
(if) Both (2) and (3)
(iii) Both (1) and (2) above
(W) All (1), (2), and (3) above:

2. Answer any five of the following quesgglsliio

(a) What is data cuboid in multidimensional data -
model.

(b) Difference between Supe{vised Jearning and

Unsupervised learning With example.

.(c) What is a decision tree ?

(d) List out the tybcs of metadata.
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: Transaction 1D * Items Purchased
' 1. - Bread, Cheese, Egg, Juice
9 Bread, Cheese, Jujce
3 - Bread, Milk, Yogurt
4 | Bread, Juice, Milk - o
5 " Cheese, Juice, Milk -
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